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QUESTION 1

The WITH CHECK OPTION clause of the CREATE VIEW statement allows you to do which of the following?
A. Define a view on one or more tables or views.

B. Revalidate all invalid objects that are referenced on a view\\'s fullselect.

C. Ensure that any inserted or updated rows conform to the definition of the view.

D. Define a view that only consists of columns that have check constraints defined.

Correct Answer: C

QUESTION 2

A column mask that is to be used for row and column access control (RCAC) was created with the DISABLE option
specified. What must be done if this mask is to be used to restrict access to data stored in a table named EMPLOYEE?

A. The column mask must be enabled; the EMPLOYEE table must be altered to activate column access control.
B. The column mask must be enabled (column access control for the EMPLOYEE table will be activated automatically).

C. The EMPLOYEE table must be altered to activate column access control (the column mask will be enabled
automatically).

D. The EMPLOYEE table must be altered to activate column access control; row permission must be granted to
everyone who needs to use thecolumn mask.

Correct Answer: A

QUESTION 3

If the following command is executed: CREATE DATABASE test What is the page size (in kilobytes) of the database?
A. 4

B.8

C.16

D. 32

Correct Answer: A

QUESTION 4

Which platform supports DB2 pureScale environments?
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A. AIX

B. iOS

C. z/OS

D. Windows

Correct Answer: A

QUESTION 5

Which action needs to be performed in order to complete the definition of an application-period temporal table?
A. A transaction-start-id column must be defined for the table.

B. A history table must be defined and associated with the base table.

C. ABUSINESS_TIME period must be specified in a CREATE or ALTER of the table.

D. A unique index must be created that prevents overlapping of the BUSINESS_TIME period of the table.

Correct Answer: C
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